
MATHS

BOOKS - TELUGU ACADEMY MATHS

(TELUGU ENGLISH)

SOLVED MODEL PAPER-3

Section A

1. Find the length of the perpendicular drawn

from the point given against the following

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hqB57F4FxnPI


straight lines. 

.

Watch Video Solution

5x − 2y + 4 = 0, ( − 2, − 3)

2. Show that the points

are colinear.

Watch Video Solution

A = (1, 2, 3), B = (7, 0, 1), C = ( − 2, 3, 4)

https://dl.doubtnut.com/l/_hqB57F4FxnPI
https://dl.doubtnut.com/l/_S0o47ob9EcRk


3. Find the equation of the plane through the

point  and parallel to the plane 

Watch Video Solution

(α, β, γ)

ax + by + cz = 0

4. Evalute 

Watch Video Solution

 Lt

x → 1

sin(x − 1)

x2 − 1

5. Evaluate lim
x→ 0

esin x − 1
x

https://dl.doubtnut.com/l/_HrWwXkGoM3X0
https://dl.doubtnut.com/l/_VBCg5OhJoZFs
https://dl.doubtnut.com/l/_Chq7epn1BHx8


Watch Video Solution

6. If f(x)= , then prove that 

Watch Video Solution

2x2 + 3x + 5

f' (0) + 3f' ( − 1) = 0

7. If  then find .

Watch Video Solution

yx = xsin y dy

dx

https://dl.doubtnut.com/l/_Chq7epn1BHx8
https://dl.doubtnut.com/l/_wofXvr0tCBFO
https://dl.doubtnut.com/l/_9fROUPgj1944


Section B

8. Find the lengths of subtangent and

subnormal at a point on the curve

Watch Video Solution

y = b sin( )
x

a

1. Find the equation of the locus of a point,

which forms a triangle of area 2 with the

points A(1, 1) and B (-2, 3).

https://dl.doubtnut.com/l/_nEU8ENE7nmSo
https://dl.doubtnut.com/l/_aDcdSJnx6g05


Watch Video Solution

2. Find the equation of the straight line

parallel to the line 3x + 4y = 7 and passing

through the point of intersection of the lines x

- 2y - 3 = 0 , x + 3y - 6 = 0

Watch Video Solution

3. Is f defined by

 ?f(x) = {
if x ≠ 0

1 if x = 0
  continuous0

sin 2x
x

https://dl.doubtnut.com/l/_aDcdSJnx6g05
https://dl.doubtnut.com/l/_rjWasuTW2zQX
https://dl.doubtnut.com/l/_H1DcrfUWists


Watch Video Solution

4. Find 

Watch Video Solution

∫ dx
x sin− 1 x

√1 − x2

5. The radius of an air bubble is increasing at

the rate of 1/2 cm/sec. At what rate is the

volume of the bubble increasing when the

radius is 1 cm?

Watch Video Solution

https://dl.doubtnut.com/l/_H1DcrfUWists
https://dl.doubtnut.com/l/_xdpqohIDTvoj
https://dl.doubtnut.com/l/_gjh9GNksqiLM


Section C

6. Find the equation of tangent and normal to

the curve  at the point where the

curve meets the Y - axis

Watch Video Solution

y = 2.e
− x

3

1. Find the orthocentre of the triangle whose

sides are given by , 

 and 

x + y + 10 = 0

x − y − 2 = 0 2x + y − 7 = 0

https://dl.doubtnut.com/l/_PRND69W2eUCY
https://dl.doubtnut.com/l/_qzJWWxIkgRMr


Watch Video Solution

2. If  is the centroid of the triangle,

whose sides are

,

then show that

Watch Video Solution

(α, β)

ax2 + 2hxy + by2 = 0 and lx + my = 1

= =
α

bl − hm

β

am − hl

2

3(bl2 − 2hlm + am2)

https://dl.doubtnut.com/l/_qzJWWxIkgRMr
https://dl.doubtnut.com/l/_pwhkCjEoO37X


3. Find the condition for the lines joining the

origin to the points of intersection of the

circle  and the line lx+my=1 to

coincide.

Watch Video Solution

x2 + y2 = a2

4.  is formed by a (1,8,4), B (0, -11,4) and

C(2,-3,1) . If D is the foot of the perpendicular

from A to BC . Then the coordinates of D are

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_wpMymEuheRN0
https://dl.doubtnut.com/l/_cMAK5Zdw7B9i


5. Find the derivative of 

w.r. to x.

Watch Video Solution

sin− 1( )
b + a sinx

a + b sinx

6. Show that the square of the lengh of the

subtangent at any point on the curve

 varies witht the length

of the subnormal at that point

Watch Video Solution

by2 = (x + a)3(b ≠ 0)

https://dl.doubtnut.com/l/_cMAK5Zdw7B9i
https://dl.doubtnut.com/l/_b5xRCU4ax8jG
https://dl.doubtnut.com/l/_1FbdEbhoz6VV


7. Find the maximum area of the rectangle

that can be formed with fixed perimeter 20.

Watch Video Solution

https://dl.doubtnut.com/l/_d20QlGb6npLb

